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1. Find themissing number

? | o
15 24
18 | 21
A. 27 B.12 C.30 D. 42

Ans. B (Terms are added by 3 ie 9+3=12)

2. Find the missing number

? 1
11 S
3 7
A.51 B. 59 C.43 D. 36

Ans: A (Right half terms are added by 2 and left half terms are added by the multiples of 8)

3. Find the missing number

64 4
36 | 14 5 9
16 | © ? 11
25 49
A. 11 B.7 C8 D.9

Ans. C ( Middle number is sum of the square root )



4. Insert the missing number

OO0 NOOE

(=) = O

A. 229 B. 312 C.234 D. 331

Ans: C (product)

5. Insert the missing number

14 9 —
12 7 2
10 5 0
16 1 ?
A.9 B.7 C.3 D.6

Ans. 6 (4+2-0=6)

6. Insert the missing number

8 17 5
12 16
10 1 9
A2 B.4 C.6 D.8

AnsA (17+2+11=30)
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